@,

PHYS~ 2010
GEPNERAL PHYsics I SoLuTIoNs

- To PROBLEM seT 4

wﬁm%

wﬁw},

5 4 - PV= NL?"’”
- Lo

30 M, = A and T =27C273
P\/ p\/ =300 K

&7, RT,

Y = '—é—T__:—

,17_

G

A !

— '0.800 x [0° Pa H.700 rm >C3(D

- _ <

2 <@.2oo>c/a§ O_YIQM S
= 560 K - 273 ‘:E? Ql




S

ia) o= | /Ww—é gww( | Tf%%oeK ‘

E#(m HBW ke=34. T /‘”f"“’”t&
ke =2 (13Byio T \(zoo /<§//W;4:42

/é 21y 07" Tr/lwr,lzﬁa(

HW jﬂ@k ane. o= lomsl on /VL/\)
Re =
((o 21 x /O >(/”%€>(é,02¢/o’23m4"%?£5

/V\,

=/3740 7 %@ks 74&@4@

77

75@’  masll

Y‘m-:> CH?fS = ?

V’MS /

92‘6 = | 32){’/0 l T/K




TN

»

| L(-?D
oy = = dm, = Q(/ C7X 167 %3\5 = aai[x&:‘”%o

(it N - ,‘3(14?,3)(/0 ST/ (o
B 3,34 ¥ /10°%7%

C'G—: /% MZ//J_-L‘)
Wy CH, \ = =/2.57%/0 a4 = 72 %r0 e/
R O g

&brﬂ' (co\): ?

o (€05 = a4 2oy = (12-0) anaN(LE7X1O gl
| - +2(/b 00 apmec\ ( (-6 7x /07 27%4,%3
= 738 x/07%

) P o -
4),;»15 (Cozx = B(L?;ZK o 9 /KB (240%&

’ (7«'35x /072C N

= 3.3 %/0 van//l :Z&Béé’ ‘QP/M/A_I

e) = (0.3 S /A e e e
MJQ/M:H@ o
For Hz).ﬁs D ‘(10%92”"3‘ 172%/4? 5wvvca

,s,,%CH—\ = esc/(,) H MI—QQ Wa]ﬁz M
.ms Ceo < Lo, /Mj

%O’Lcwx /wu\sJajj'»:Q -




o)

i (S THa 2wt 0 AT Pm/wwze,,&,, Mo Arz p
sz = /. O
:D (’ éAO%;’""ﬁ,\MQ'[O laéw«. [.00 2B
= .00 i + I,Xoa%:of)‘gc j:,\ |
e o pzs ﬁf«/b P = .00 Jn + 2.20 T
= 20 .
67 -LJAM&C,LM ?L:,ﬁ_&_ %Yl 7_?}/\%
3.20 abm
2= (P ézookﬁ(z;m -{34314 |
‘::ﬂ% =
] >
W m,R _ R /:_/li—:&
P, T TR Tt TR

Azfzi%eM ol MWS’? ;/:@ 24‘?/1/.44&

12,5




7y

| | 4-5
| | R IO

@,Q;% /U'ﬂ'é-‘/%:% W= PaV

P= 0800 ¥ .013x16", 2 =80 ¥

o Vbl dove by

- i3

A\/ = \/&—\/L = Q.00 LQQ,OOL = -0 %[O I——
= —7.00 % (O 3

W =~PaV :"Cgal@‘*’ X /Oq»lbo.B(b 7,003/O~3M33

=45 67 x/0" Nim =[4667TF

on g ;AU = Q%»J |
%qoﬁw (ﬂ%j%ﬁ [%wa. m:(Z’B

D

—
—

-~

AU

- 4003 + (57T =[4- 7 C)"I

bt o,

2 W

Engime M by (T
sk e Juning eelle Q= Q.
oot Ittt —a

_ 17003 = 12003"  spog | };
= 17003 = /“7'5"0’? = 0,2_0[

p—
—

e =

e

Qs




T

-

W= 8 - @«1700\)—1200\) @
**@5' M%M%@Ma@a/L?

;Lb Mok done. i wﬂy]Jg 7

- &S00 _ -
Pp= v ey el L6780 = /&7/%\/J
7’=S‘7Ool<3 e = 290K  (=joco T

)4
S?U\
Sk
BN
}31‘2\“
&/%f
-
%
%
é

| Cenars |
| - - N
| ASWM‘ AS@ +AS@ R Q -E'E

(/00038 .290 K 5‘7‘0{;K3 .-:/. 227 T/ |

P Lj{\w@% =P

bbé}ﬂ%4awxo«f%szw p;é;l_};
\iSAf«Q% mﬁzﬂ@.cwh o é@




